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PQ = PR+RQ = (c-a) +(d-b)j

Fnati wnwasainan P2,1) lifiqn Q(5,6)

PQ = PR+RQ = (5-2)i+(6-1)] = 3i+5]
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i A=ai +bj e B =ci +dj
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4.8 MapINAes
4.8.1 MapndNwasiLLTuIaINaNT
B1 A=ai +bj . B =ci +dj uazk fusasiila fithaluinainans
kA =k (@i +bj )= kai +kbj
k(A+B)=KA +KkB

4.8.2 M3Anuanmasiunme s
4.8.2.1 N@@mmﬂ@ﬁ (scalar product) 99 dot product
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A-B = ‘A“g‘ cos &

20 = (@X\/E)cose = 10~/8cos @
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4822 m@@mmmm@? (vector product) 98 cross product



0 A =ai +bj uar B =ci +dj
PWAVBINAATS NBBTAN TN

ix 8| =|Af8]sin o



